

Bid 58-2020 Addendum 3 Todd Johnson Contracting, Inc. Supplier Response

Event Information

Number: Bid 58-2020 Addendum 3

Title: Jimmie Campbell Bridge Project

Type: Competitive Bid

Issue Date: 5/20/2020

Deadline: 6/17/2020 02:00 PM (ET)

Contact Information

Contact: Brian Marcum Address: Central Purchasing

Government Center Building

Room 338

200 East Main Street Lexington, KY 40507

Phone: (859) 2583320 Fax: (859) 2583322

Email: brianm@lexingtonky.gov

Todd Johnson Contracting, Inc. Information

Contact: Jeremy Johnson Address: 497 Dillehay Street

Danville, KY 40422 (859) 238-9489

Email: jeremy@toddjohnsoncontracting.com

ONLY ONLINE BIDS WILL BE ACCEPTED!

By submitting your response, you certify that you are authorized to represent and bind your company and that you agree to all bid terms and conditions as stated in the attached bid/RFP/RFQ/Quote/Auction documents.

Jeremy Johnson	jeremy@toddjohnsoncontracting.com			
Signature	Email			
Submitted at 6/17/2020 12:50:34 PM				

Response Attachments

LFUCG.pdf

Phone:

This is the bid bond

Addendums.pdf

addendums

Rid Lines

BI	d Lines				
1	Construction Staking				
	Quantity: 1 UOM: LS	Unit Price:	\$920.00	Total:	\$920.00
2	Clearing & Grubbing				
	Quantity: 1 UOM: LS	Unit Price:	\$3,450.00	Total:	\$3,450.00
3	Unclassified Excavation & Earthwork				
	Quantity: 1 UOM: LS	Unit Price:	\$4,024.99	Total:	\$4,024.99
4	Erosion Control Blanket				
	Quantity: 200 UOM: SY	Unit Price:	\$3.58	Total:	\$716.00
5	Temporary Silt Fence				
	Quantity: 295 UOM: LF	Unit Price:	\$3.45	Total:	\$1,017.75
6	Sodding				
	Quantity: 500 UOM: SY	Unit Price:	\$6.90	Total:	\$3,450.00
7	Barricade - Type III & Temporary Signs				
	Quantity: 4 UOM: EA	Unit Price:	\$126.79	Total:	\$507.16

8	Temporary Signs				
	Quantity: 24 UOM: SF	Unit Price:	\$25.30	Total:	\$607.20
9	Delineators for Guardrail Bi-directional White				
	Quantity: 8 UOM: EA	Unit Price:	\$12.96	Total:	\$103.68
1	Guardrail Steel W Beam - S-Face				
0	Quantity: 127 UOM: LF	Unit Price:	\$17.06	Total:	\$2,166.62
1	Guardrail Terminal Section No. 1				
1	Quantity: 4 UOM: EA	Unit Price:	\$59.40	Total:	\$237.60
1 2	Dense Graded Aggregate Base				
2	Quantity: 80 UOM: TN	Unit Price:	\$48.60	Total:	\$3,888.00
1	Class 2 Asphalt Base				
3	Quantity: 70 UOM: TN	Unit Price:	\$151.20	Total:	\$10,584.00
1	Class 2 Asphalt Surface				
4	Quantity: 10 UOM: TN	Unit Price:	\$194.40	Total:	\$1,944.00
1 5	Asphalt Material for Tack				
5	Quantity: 2 UOM: TN	Unit Price:	\$1.73	Total:	\$3.46
1	Concrete Class A				
6	Quantity: 9.8 UOM: CY	Unit Price:	\$1,262.07	Total:	\$12,368.29
1 7	Concrete Class AA				
1	Quantity: 22.3 UOM: CY	Unit Price:	\$1,150.83	Total:	\$25,663.51
1	Steel Reinforcement - Epoxy Coated				
0	Quantity: 3713 UOM: LB	Unit Price:	\$1.23	Total:	\$4,566.99
1 9	Remove Superstructure				
9	Quantity: 1 UOM: LS	Unit Price:	\$50,843.10	Total:	\$50,843.10
2	Remove Concrete Masonry			_	
U	Quantity: 10.7 UOM: CY	Unit Price:	\$345.00	Total:	\$3,691.50
2	Rail System Side-Mounted MGS			_	
'	Quantity: 118 UOM: LF	Unit Price:	\$172.46	Total:	\$20,350.28
2 2	Structure Granular Backfill			-	
	Quantity: 57 UOM: CY	Unit Price:	\$19.16	Total:	\$1,092.12
2	Concrete Patching Repair			-	
3	Quantity: 32 UOM: SF	Unit Price:	\$16.57	Total:	\$530.24

2	Precast PC Box Beams CB 27-48				
4	Quantity: 327.5 UOM: LF	Unit Price:	\$261.84	Total:	\$85,752.60
2 5	Armored Edge for Concrete				
Э	Quantity: 40 UOM: LF	Unit Price:	\$53.48	Total:	\$2,139.20
2	Concrete Sealing				
0	Quantity: 1983 UOM: SF	Unit Price:	\$1.00	Total:	\$1,983.00
2 7	Structure Excavation - Common				
1	Quantity: 57 UOM: CY	Unit Price:	\$34.50	Total:	\$1,966.50
2	PVC Conduit - 1" Schedule 80				
0	Quantity: 130 UOM: LF	Unit Price:	\$15.18	Total:	\$1,973.40
2 9	Mobilization - 5%				
9	Quantity: 1 UOM: LS	Unit Price:	\$1,725.00	Total:	\$1,725.00
3	Demobilization - 1-1/2%				
0	Quantity: 1 UOM: LS	Unit Price:	\$1,725.00	Total:	\$1,725.00
3	Payment and Performance Bond Cost - 1%				
1	Quantity: 1 UOM: LS	Unit Price:	\$5,512.50	Total:	\$5,512.50
3 2	Quality Control Services Allowance				
2	Quantity: 1 UOM: LS	Unit Price:	\$1,610.00	Total:	\$1,610.00

Response Total: \$257,113.69